1/0;do/dg

Ratio to DO

1960 GeV ppbar Z (Drell-Yan)
C103 gI_ T T T T | I I I T T TTT | I I I T T TTT | I I JE
; (pn(ll) (muon channel, 1 < hél <2) ;
10° = =
10 = E
1 —
107 = =
10_2 = =
- m DO -
10 &= —a— Pythia 8.308 default —=
— ---v-- Pythia 8.308 tune-AU2 =
1074 ;_ --<-- Pythia 8.308 tune-AU2lox
= --8-- Pythia 8.308 tune-AUZ2loxx =
[~ —— Pythia 8.308 tune-AU2m 7
10_5 = =
- | | n -
:I T | | T |
2 =
1
0.5

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


